

St. Charles Parish

Introductions

St. Charles Parish Courthouse 15045 Highway 18 P.O. Box 302 Hahnville, LA 70057 985-783-5000 www.stcharlesparish-la.gov

Parish Council

Council Chairman Julia Fisher-Perrier Councilmembers Wendy Benedetto, Paul J. Hogan, Terrell D. Wilson, Mary K. Clulee, Dick Gibbs, William Billy Woodruff, Marilyn B. Bellock, Traci A. Fletcher

Monday, July 22, 2019

6:00 PM

Council Chambers, Courthouse

Final

ORDINANCES / RESOLUTIONS INTRODUCED FOR PUBLICATION / PUBLIC HEARING

Monday, August 5, 2019, 6:00 pm, Council Chambers, Courthouse, Hahnville

2019-0216

An ordinance approving and authorizing the execution of Change Order

No. 1 for Parish Project No. S150301A St. Rose Sewer Network

Upgrade to increase the contract amount by \$36,683.96 and decrease

the number of days by 140.

Sponsors:

Mr. Cochran and Department of Public Works

2019-0217

An ordinance approving and authorizing the execution of Change Order No. 1 for Parish Project No. S170701 Hahnville Wastewater Treatment

Plant (UV Upgrade) to increase the contract amount by \$18,950.00 and

increase the number of days by 16.

Sponsors:

Mr. Cochran and Department of Public Works

2019-0218

An ordinance to rename Rue La Cannes, Luling to Deputy Jeff Watson

Street.

Sponsors:

Mr. Cochran

S* 2019-0220

An ordinance to approve and authorize the execution of a contract with

Barriere Construction Co., LLC for the construction of Parish Project No. P160302-6, Road Maintenance 2019, with Base Bid and Alternate No.

1, in the amount of \$1,247,333.00.

Sponsors:

Mr. Cochran and Department of Public Works

S* 2019-0221

An ordinance to amend the 2019 Consolidated Operating and Capital Budget, Amendment No. 3, to add revenues including transfers totaling \$29,642,001 and accumulated fund balance of \$38,899,882 and expenditures, including transfers, totaling \$71,608,642 for the Roads and Drainage Fund - Fund 112, Parish Transportation Fund 102, Flood Protection Fund 123, and Capital Projects Fund 310 (West Bank Hurricane Protection Levee) for construction, architectural/engineering, and other fees unexpended in 2018 for various parish projects that were not completed during 2018.

Sponsors:

Mr. Cochran and Department of Finance

S* 2019-0222

An ordinance to levy an assessment on the 2019 ad valorem tax bills of property owners that are delinquent in paying outstanding invoices for removal of weeds, grass, etc. in accordance with the St. Charles Parish Code, Chapter 16, Article III, Weeds, Grass, etc. and to levy an assessment on the ad valorem tax bills of property owners that are delinquent in paying outstanding charges incurred for the removal of unsafe structures, trash and debris in accordance with Chapter 16, Article IV, Sec. 16-48(b).

Sponsors:

Mr. Cochran and Department of Planning & Zoning

S* 2019-0224

An ordinance to approve and authorize the execution of an Agreement between Tauzin Consultants, LLC and St. Charles Parish for governmental affairs representation.

Sponsors:

Mr. Cochran, Ms. Benedetto, Mr. Wilson, Ms. Clulee, Mr. Gibbs, Mr. Woodruff, Ms. Fletcher and Ms. Fisher-Perrier

~ 2019-0226

An ordinance approving and authorizing the execution of Change Order No. 1 for Parish Project No P160302-5, Road Maintenance 2018, to balance the contract quantities with actual quantities resulting in a decrease of \$125,845.75 and an increase in time of twenty-four (24) days.

Sponsors:

Mr. Cochran and Department of Public Works

RESOLUTION INTRODUCED FOR PUBLICATION / PUBLIC HEARING

Monday, August 19, 2019, 6:00 pm, Council Chambers, Courthouse, Hahnville

2019-0219 A resolution authorizing the St. Charles Parish Council to approve the

Industrial Tax Exemption application for W.R. Grace & Co., Project ID: 20180053-ITE for participation in the Industrial Tax Exemption Program for an expansion project at the company's manufacturing facility in

Norco, Louisiana.

Sponsors:

Mr. Cochran and Department of Economic Development and Tourism

Accommodations for Disabled

St. Charles Parish will upon request and with three (3) days advanced notice provide reasonable accommodation to any disabled individual wishing to attend the meeting. Anyone requiring reasonable accommodation is requested to contact the Office of the Council Secretary at (985) 783-5000 to discuss the particular accommodations needed.

<u> 2019-0226</u>	
INTRODUCE	D BY: LARRY COCHRAN, PARISH PRESIDENT
	(DEPARTMENT OF PUBLIC WORKS)
ORDINANCE	
	An ordinance approving and authorizing the execution of
	Change Order No. 1 for Parish Project No P160302-5,
	Road Maintenance 2018, to balance the contract
	quantities with actual quantities resulting in a decrease
	of \$125,845.75 and an increase in time of twenty-four
WHEDEAC	(24) days.
WHEREAS,	Ordinance No. 18-12-7 adopted December 10, 2018 by the St. Charles
	Parish Council awarded construction of Parish Project No P160302-5,
WHEDEAC	Road Maintenance 2018, to Barriere Construction Co, LLC; and,
WITCHEAS,	it is necessary to amend the contract to adjust the original contract
	quantities with actual quantities resulting in a decrease to the contract
THE ST CHA	amount by \$125,845.75 and an increase in time of twenty-four (24) days. ARLES PARISH COUNCIL HEREBY ORDAINS:
	ION I. That Change Order No. 1 for Parish Project No. P160302-5, Road
Maintenance	2018, to decrease the contract amount by \$125,845.75 and an increase in
time of twenty	y-four (24) days is hereby approved and accepted.
SECTI	ION II. That the Parish President is hereby authorized to execute said
Change Orde	er on behalf of St. Charles Parish.
	regoing ordinance having been submitted to a vote, the vote thereon was
as follows:	o o o o o o o o o o o o o o o o o o o
And th	e ordinance was declared adopted this day of, 2019,
	fective five (5) days after this publication in the official journal.
CHAIRMAN:	
	RESIDENT:
APPROVED:	DISAPPROVED:
	ENT:
RETD/SECRETAR	RY:

AT:_____RECD BY: ____

SECTION 00806

CHANGE ORDER

19 EFFECTIVE DATE_____

DATE OF ISSUANCE July 11, 2019

OWNER St. Charles Parish
CONTRACTOR Barriere Construction Co. LLC

Contract: Road Maintenance 2018

Project: P160302-5

OWNER's Contract No.P160302-5

ENGINEER Barowka and Bonura Engineers and Consultants, L.L.C

ENGINEER's Contract No. N/A

No. <u>1</u>

You are directed to make the following changes in the Contract Documents: **Description:** See attached example on how to fill in this information

- 1. Delete the Following Work Items:
 - a. Base Bid Item #7: Adjust Drainage Structures

 Delete Item in its entirety. (-\$70.00)
 - b. Base Bid Item #9: Shoulder Material (Stone Fill)

 Delete item in its entirety. (- \$5,869.00)
 - c. Alternate Bid Item #11: Adjust Drainage Structures

 Delete Item in its entirety (-\$95.00)
 - d. Alternate Bid Item #13: Shoulder Material (Stone Fill)

 Delete Item in its entirety (-\$9,137.00)

Total of Deducted Items = (-\$15,171.00)

- 2. Add the Following Work Items:
 - a. Alternate Bid Item #16: Barrier Curb (6")
 Addition of \$4760.00
 - b. Alternate Bid Item #17: Remove Cul-de-Sac Addition of \$5,000.00

Total of Added Work Items = (+\$9,760.00)

- 3. Revise the Following Work Item Quantities:
 - a. Base Bid Item #2: 2-inch depth cold plane

 The quantity is to be decreased by 7,445. The quantity is to be changed to 17,952. (-\$14,890.00)
 - D. Base Bid Item #3: Asphalt Pavement Overlay

 The quantity is to be decreased by 7,445. The quantity is to be changed to 17, 952 (-\$81,895.00)
 - c. Base Bid Item #4: 6-Inch Depth Asphalt Patching

 The quantity is to be decreased by 18.22. The quantity is to be changed to 911.78 (-\$1,913.10)

- d. Base Bid Item #5:Reflectorized Raised Pavement Markers (Blue)

 The quantity is to be decreased by 19. The is quantity is to be changed to 11 (-\$95.00)
- e. Base Bid Item #6: Adjustment of Manholes

 The quantity is to be increased by 4. The quantity is to be changed to 18.

 (+ \$20.00)
- f. Base Bid Item #8:Adjustment of Water Valves

 The quantity is to be decreased by 12. The quantity is to be changed to 2. (-\$60.00)
- g. Base Bid Item #10: Shoulder Material (Reclaimed Asphalt Pavement)

 The quantity is to be increased by 1940. The quantity is to be changed to 13,673. (+\$1940.00)
- h. Alternate Bid Item # 2:2-Inch Depth Cold Plane

 The quantity is to be decreased by 3959. The quantity is to be changed to 38,330 (-\$3,918.00)
- i. Alternate Bid Item # 3: Asphalt Pavement Overlay
 The quantity is to be decreased by 3959. The quantity is to be changed to 38,330. (-\$21,549)
- j. Alternate Bid Item # 4: 6-Inch Depth Asphalt Patching

 The quantity is to be decreased by 82.53. The quantity is to be changed to 692.47 (-\$8,665.65)
- k. Alternate Bid Item #5: Reflectorized Raised Pavement Markers (Blue)

 The quantity is to be decreased by 11. The quantity is to be changed to 31 (-\$55.00)
- l. Alternate Bid Item #7: Plastic Pavement Reflective Striping (4-inch width) (White)

 The quantity is to be decreased by 0.001. The quantity is to be changed to 0.060 (-\$5.00)
- m. Alternate Bid Item #8: Plastic Pavement Reflective Striping (4-inch width) (Yellow)

 The quantity is to be increased by 0.001. The quantity is to be changed to 0.03 (+\$5.00)
- n. Alternate Bid Item #10: Adjustment of Manholes

 The quantity is to be increased by 5. The quantity is to be changed to 24 (+\$25.00)
- o. Alternate Bid Item #12: Adjustment of Water Valves

 The quantity is to be decreased by 16. The quantity is to be changed to 3 (-\$80.00)
- p. Alternate Bid Item #14: Shoulder Dressing (Reclaimed Asphalt Pavement)

 The quantity is to be increased by 10,701. The quantity is to be changed to 28, 962 (+\$10,701.00)

Reason for Change Order:

1. Deleted Work Items

- a. The Adjustment of Drainage Structures (base Bid) item was estimated prior to bid, but was not required during construction.
- b. The Shoulder Material (Stone Fill) (Base Bid) was estimated prior to bid but was not required during construction.
- c. The Adjustment of Drainage Structures (Alternate Bid) was estimated prior to bid but was not required during construction.
- d. The Shoulder Material (Stone Fill) was estimated prior to bid but was not required during construction.

2. Add Work Items

- a. The Barrier Curb (6") was added due to modifying the Cul de sac on Bernice Drive. This work was not included in the bid.
- b. The Removal of the existing Cul de sac on Bernice Drive was not included in the bid.

3. Revise Work Item Quantities

- a. The quantities for 2-Inch Depth Cold Plan were estimated prior to bid. However both First Street and Court Street were removed from construction due to waterline problems to be addressed prior to street work. The quantity was decreased by 7,445 SY.
- b. The quantities for Asphalt Pavement Overlay were estimated prior to bid. However both First Street and Court Street were removed from construction due to waterline problems to be addressed prior to street work. The quantity was decreased by 7,445 SY.
- c. The quantities for 6-Inch Depth Asphalt Patching were estimated prior to bid, but quantities from construction required this item to be decreased by 18.22 Tons.
- d. The quantity for Reflectorized Raised Pavement Markers (Blue) was estimated prior to bid, but quantities from construction required this item to be decreased by 19.
- e. The quantity for Adjustment of Water Valves was estimated prior to bid, but quantities from construction required this item to be decreased by 12.
- f. The quantity for Shoulder Material (Reclaimed Asphalt Pavement) was estimated prior to bid, but quantities from construction required this item to be increased by 1940 LF.
- g. The quantities for 2-Inch Depth Cold Plane were estimated prior to bid, but quantities from construction required this item to be decreased by 3,959 SY.
- h. The quantities for the Asphalt Pavement Overlay were estimated prior to bid, but quantities from construction required this item to be decreased by 3,959 SY.

- The quantity for the 6-Inch Depth Asphalt Patching was estimated prior to bid, but quantities from construction required this item to be decreased by 82.53 Tons.
- j. The quantity for Reflectorized Raised Pavement Markers (Blue)was estimated prior to bid, but quantities from construction required this item to be decreased by 11.
- k. The quantity for Plastic Pavement Reflective Striping (4-iinch width) (white) was estimated prior to bid, but quantities from construction required this item to be decreased 0.001 Miles.
- l. The quantity for Plastic Pavement Reflective Striping (4-inch width) (Yellow) was estimated prior to bid, but quantities from construction required this item to be increased by 0.001 Miles.
- m. The quantity for the Adjustment of Manholes was estimated prior to bid, but quantities from construction required this item to be increased by 5.
- n. The quantity for the adjustment of Manholes was estimated prior to bid, but quantities from construction required this item to be decreased by 16.
- o. The quantity for Shoulder Material was estimated prior to bid, but quantities from construction required this item to be increased by 10,701 LF.

4. Revise Contract Days

SCP-E-00806

- a. Add additional days when temperature fell below the minimum required by DOTD Section 502.07.1 Weather Limitations.
 15 days: 1/14, 1/15, 1/16, 1/19, 1/20/1/21, 1/24, 1/25, 1/26, 1/29, 1/30, 1/31, 2/9/, 3/4 and 3/5.
- b. Add 3 additional days for extra work at Cul de Sac on Bernice Drive.
- c. Add 6 additional days waiting for inspection April 10-April 16.

CHANGE IN CONTRACT PRICE:	CHANGE IN CONTRACT TIMES:
Original Contract Price \$ 1,133,673.00	Original Contract Times: Substantial Completion: 90 days Ready for final payment: 90 days (days or dates)
Net Increase (Decrease) from previous Change Orders No. N/A to N/A: \$ <u>0.00</u>	Net change from previous Change Orders No. N/A to NoN/A Substantial Completion: Ready for final payment: (days)
Contract Price prior to this Change Order: \$1,133,673.00	Contract Times prior to this Change Order: Substantial Completion: 90 days Ready for final payment: 90 days (days or dates)
Net increase (decrease) of this Change Order: \$125,845.75	Net increase this Change Order: Substantial Completion: 24 days Ready for final payment: 24 days (days)
Contract Price with all approved Change Orders: \$\frac{1,007,827.25}{}\$	Contract Times with all approved Change Orders: Substantial Completion: April 30, 2019 Ready for final payment: April 30,2019 (days or dates)
RECOMMENDED: APPROV.	ED: ACCEPTED:

	A	83	C	٥	ш	ш	9	Ŧ	_
-	Item #	Description	Bid Quantity	Cost/unit	Original	Actual Quantity	Actual	Difference	Item #
7					Contract		:	:	
3	B1	Temp Const Signs/Barricades	П	\$5,000.00	\$5,000.00	₩	\$5,000.00	\$0.00	B1
4	B2	2" Cold Plane	25,397	\$2.00	\$50,794.00	17,952	\$35,904.00	-\$14,890.00	B2
72	. B3	2" Overlay	25,397	\$11.00	\$279,367.00	17,952	\$197,472.00	-\$81,895.00	B3
9	B4	6"Patch	930	\$105.00	\$97,650.00	911.78	\$95,736.90	-\$1,913.10	B4
_	 B5	Blue Markers	30	\$5.00	\$150.00	11	\$55.00	-\$95.00	85
∞	B6	Adjust MH	14	\$5.00	\$70.00	18	\$90.00	\$20.00	98
6	B7	Adjust Drains	14	\$5.00	\$70.00	0	\$0.00	-\$70.00	87
10	B8	Adjust Water Valves	14	\$5.00	\$70.00	2	\$10.00	-\$60.00	B8
Ī	B9	Shoulder Dress (Stone)	5869	\$1.00	\$5,869.00	0	\$0.00	-\$5,869.00	89
12	810	Shouler Dressing (RAP)	11,733	\$1.00	\$11,733.00	13,673	\$13,673.00	\$1,940.00	B10
13	811	Project Signs	2	\$1,000.00	\$2,000.00	2	\$2,000.00	\$0.00	B11
14	812	Mobilization	н	\$31,000.00	\$31,000.00	-	\$31,000.00	\$0.00	812
15	A1	Temp Const Signs/Barricades	H H	\$1,000.00	\$1,000.00	-	\$1,000.00	\$0.00	A1
16	A2	2" Cold Plane	40,289	\$2.00	\$80,578.00	38,330	\$76,660.00	-\$3,918.00	A2
12	A3	2" Overlay	40,289	\$11.00	\$443,179.00	38,330	\$421,630.00	-\$21,549.00	A3
1,8	A4	6"Patch	775	\$105.00	\$81,375.00	692.47	\$72,709.35	-\$8,665.65	A4
19	A5	Blue Markers	42	\$5.00	\$210.00	31	\$155.00	-\$55.00	A5
20	A6	Yellow Markers	ж	\$5.00	\$15.00	3	\$15.00	\$0.00	A6
21	A7	4" Striping (White)	0.061	\$5,000.00	\$305.00	90:0	\$300.00	-\$5.00	A7
22	A8	4"Striping (Yellow)	0.029	\$5,000.00	\$145.00	0.03	\$150.00	\$5.00	A8
23	Α9	8" Striping ((White)	41	\$10.00	\$410.00	41	\$410.00	\$0.00	A9
24	A10	Adjust MH	19	\$5.00	\$95.00	24	\$120.00	\$25.00	A10
25	A11	Adjust Drains	19	\$5.00	\$95.00	0	\$0.00	-\$95.00	A11
26	A12	Adjust Water Valves	19	\$5.00	\$95.00	m	\$15.00	-\$80.00	A12
27	A13	Shoulder Dress (Stone)	9,137	\$1.00	\$9,137.00	0	\$0.00	-\$9,137.00	A13
28	A14	Shouler Dressing (RAP)	18,261	\$1.00	\$18,261.00	28,962	\$28,962.00	\$10,701.00	A14
59	A15	Mobilization	=		\$15,000.00	1	\$15,000.00	\$0.00	A15
30	A16	Barrier Curb	0	\$4,760.00	\$0.00	П	\$4,760.00	\$4,760.00	A16
31	A17	Remove Cul de Sac	0	\$5,000.00	\$0.00	П	\$5,000.00	\$5,000.00	A17
32				:	:		:		:
7,2		total 4/30/2019			51.133.673.00		51.007.827.25	-5125.845.75	